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The relation is linear because the points lic on a
straight line.

In the table. as f increases by 1. 4 increases by
$20. On the graph. to get from one point to the
next. move 1 unit right and 20 units up.
A=140+20¢t
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In the table. as x increases by 1. y increases by 4.
On the graph. to get from one point to the next.

move 1 unit right and 4 units up.
y
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In the table. as x increases by 1. y decreases by 2.
On the graph. to get from one point to the next,
move 1 unit right and 2 units down.
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c) Inthe table. as x increases by 1. y increases by 3.
On the graph. to get from one point to the next,
move 1 unit right and 3 units up.

J

a) Let/and m represent the two lengths of string.

1 m
20 5
15 10
10 15
5 20
b) i) The relation is linear because the points lic on
a straight line.

i) Ishould join the points because the string can
be cut anywhere. so values between points are
permitted.

0 5 10 15 20 25

¢) i) Variables may differ: [ + m =25
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8. Idonot need to make a table of values since the
‘eraphs are vertical lines and horizontal lines.
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a) Figure 1: 10 units  Figure 2: 14 units
Figure 3: 18 units  Figure 4: 22 units
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Figure 5 Figure 6 Figure 7

Figure Number, n Perimeter, P
1 10
2 14
3 18
4 22
5 26
6 30
7 34
6+4n e) P=6+4n
126 units g) Figure 21
As n increases by 1. v increases by 3.
3n-8 c) v=3n-8
55 f) 38
Term Number, » | Term Value, »
1 75
2 71
3 67
4 63
5 59
6 55
7 51

79 —4n
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a)

Time, ¢ Account
(months) Balance, 4 ($)
0 140
1 160
2 180
3 200
4 220
5 240
6 260
7 280

b) Iwill not join the points because Norman
deposits money once a month. making the data
discrete.




